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Choose the correct answer :

1-The robber ( arrested — was arrested — is arrested ) by the police last night.
2-The door was ( closed — closing — close ) by me.

3-The child ( has be — has being — has been ) kidnapped.

4-Adnan used to ( watch — watched — watching ) TV every night.

5-We ( were played — were play — were playing ) when the robbery took place.
6-1 was watching football match while my sister was ( studying — studied — study )
7-Did you ( write - writing —wrote ) your homework yesterday?

8-Ahmad would ( drove — driving — drive ) rashly when he was teenager.
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Do as shown between brackets

1- The police catch thieves. ( change into passive )
zomarbmkethewmdow .......................................... (Change o
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s o b i el rearans)

~

Grim -- suspect — coincidence — pavement - insured

Complete
1-The police will catch the .......c.oceerccerrcccrreaenns with dark hair and green shirt.
2-The news about that accident was ...........cuueeereereenne. There were no survivor.

3-What a ...............c........? | bumped into Ahmad Al-Ali yesterday at the restaurant.

4-Before buying a new car, you should have........................ against the accidents.
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